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General Instructions :
1. The question paper consists of four sections - A, B, C and D.
Section - A consists of 4 questions of 1 mark each.
Section - B consists of 6 questions of 2 marks each.
Section - C consists of 12 questions of 3 marks each.
Section - D consists of 12 questions of 4 marks each.
: Write the serial number of the question before attempting it.
3 3. In questions of construction, the drawing should be neat and clean and exactly as per the
given measurements. Use ruler and compass only.
4. All questions are compulsory. However, internal choices have been given in some
» questions.
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SECTION - 'A' (Ts-‘31')
| 1. Find the value of (9T I ifey) VI176++/2401 - 1

2. If pand q vary directly with each other, then find the value of ¢ when p=7and

N

1

the constant of variation is 2
)

A e 2 R | &
Hﬁpainqwu?mmrgqmn%aﬁtwﬁmmg%,aﬁqmmm
FifT, S&Efh p=773l
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6.

10.

oy
Simplify (6 Fifea) ::; —l

: 2
0 7 nd base area is 25 cm?
Find the height of a cuboid whose volume is 275 cm’a

TE S A T FIS, g STRRA 275 cm?® SR SMER
EETHE 25 cm? @

SECTION - 'B'(@S-a")
A shopkeeper sold a bicycle for Z 1485 at a profit of é%. Find the cost price

of a bicycle.

Th THEASR U HIEFRA F 8% B 1M W 21485 T Swel &1 WEfRA i
ERR EIE CRCHIE

Rohan pruchased a shirt for ¥ 882 including VAT. If the original

price of the shirt was 840, then find the rate of VAT.

Ued Uk IS 7882 I @Rl ¢ fownd VAT mffer £ afe s @
ArEdfas Jed 7840 Bl dl, VAT &1 T A1 i) |

/0.216 f0.36
o A4 JATd 3:“3@: g & Rren
Evaluate ( ) 0.125 V0.25

Evaluate using a suitable identity : 95 x 97

ﬁaﬁaﬁmmmﬁa?@%xwmmmaﬁﬁm

Verity Euler's formula for a Triangular Pyramid.

@ﬁwﬁrﬁ—s%mm#;@ﬁmw,

A cuboidal block of silver is 9 ¢m long, 4 em broad ang 3.5 cm hi .h Find
: igh. Fin

the number of beads of volume 1.5 ¢y each, that can be mé defrom e Block
rom the block.

@waﬁqaﬁﬁwfﬂ'ﬂﬁm9 cm , a\ﬁ?:"lg4'cm33ﬁ'( 3,5cm3%r§

'%115cm33ma=ra1ﬁwqﬁ |
TEd B mmw,ﬂ’fmﬁ@mm
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SECTION -'C'(@3-‘|")

V1183

11.  Find the value of (WM hifsT)

( i ) V2023

12. The area of a rectangular field whose length is twice its breadth is 2450 m2
Find the perimeter of the field.

T AEER WM et s, el [ R ], F1 dawer 2450 me 2
HEA TR 6 i

OR ( 3Agar)
Find the value of /15625 and use it to find the value of v156.25++/1.5625 .
V15625 1 R 1 HY R g WM F V156.25 +4/1.5625 I A TA
Hifu|

13. Find the cube root of 175616 through estimation.

175616 1 SFHA 3Thed g1 A hifaq|

14. Evaluate: (9 34 ifs) /27 +3/0.008 +3/0.000064

15. If 15 workers can build a wall in 48 hours then find the number of
workers required to complete the same work in 30 hours?

Ifz 15 4fge UF SR H 48 WS H o1 Ghd ¥, @ gfEH F Hen 9@
FHifdu Sifer H HM H 30 T H GT I Th

16. A loaded truck travels 14 km in 25 minutes. How far can it travel in 5 hours
if the speed of the truck remains same? .

A § @ gl TH 7w 25 e d 14%@33%@@%%@&%
F U T8 ®, 5 g H Fe fohadl 9@ R um?

17. A dealer purchased a music system for ¥ 15320. He allows a discount of
12% on its marl\ed price and gains 10% on it. Find the marked price of the
music system.

e o T A e’ 15320 B § @R ¥ 36 sl e W
129 Y w2 33 & AR A I 10% F1 T T &1 wgfor fwen’ @ s
T T hifera)
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18. -

19.

20.

If x +v=12and xy = 14, find the value of X'+ ¥
i i
g x + y=12 3R xy = 14 gl x4yt @l i A A

3 , . . y " HIL'H Nove lhﬂl U'IL‘ ()pp()SilL'
If cach angle of a quadrilateral is a right angl }

sides of the quadrilateral are parallel.
At uw aqds w1 oy w90 @, @ S
fauf@ g wamre 1

Draw a line-segment of length 7.2 cm and divide it into five equal parts. 3

7.5 cm W UF {@rEs difae o 39 5 e oy o fasfsa =il

Alternate question for visually challenged students in lieu of Q. No. 20
TH, 20% T W ghz afia faenfdel & fog defeasw woT
Write a Pythagorean Triplet if one of the number is 16.

TF URUNRE faw fatgu fagst @ 9@ 16 2

Plot the points P(0, 5), Q(6, 5) and R(4, 0) in a cartesian plane. Join them in

2

an order to get a closed figure PQR. Name the figure so obtained.

fa= P(0, 5), Q(6, 5) 3T R(4, 0) # TF T 9 W R w5 5
F9 § FIg i Tk 9= 3Hid PQR AT STUI W< SAIh{d 1AM amEUl

~Alternate question for visually challenged students in lieu of Q. No. 21

yH. 21 % WH W ghe arfug faenfdeal & fou dofeas wor

Find the value of y, if 6y = 23* - 172, |

afz 6y =23 -172%, @ yH HF @ Hifo

In a building there are 25 cylindrical pillars. Thé radius of each pillar is 28 cm

and height is 4 m. Find the total cost of painting the pillars at the rate of

Z8 per m’, ,
TF qad H 25 GEER W | Uh W R B 28 o siR <

4m%|8mﬁ9ﬁfaﬁamﬁﬂﬁ&mﬁmﬁ’a.mﬁﬁmmm
hifaTu| B
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SECTION -'D' (@8-‘T')

-

. 3 _

Find the square root of 3 ¢ correct uplo two places of decimal. 4
3 .

vV , - - —— X o ) . -

o A et W Q) ol o G 6 Ffe

3
»

—

Find the least number which must be subtracted from 7581 to obtain a perfect
square. Also, find the perfeet square and its square root. 4
e WA W wen g W o758 § § e W owew ol @ gen

S Q] @ e ik swe wie R o ER

S bFind the smallest number by which 53240 should be divided so that the
quotient s a pertect cube, 4
S¢ WA 9 W dwn i sifee S 53240 H 90 3H ® 9IETES T g0l

REECE IS I

2o Atrain Jo0 mlong is running at a speed of 45 km / hr. Find the time taken by

it to cross a L0 mlong tunnel. | 4
U el Sl e o0 e @, 45 fwader wfa gver & wHE e |

st W WA e 140 e e gun w o wE o e aw ed?

27, A shopkeeper tixed the marked price of an item at 35% above its cost price.

Frad the discount % so that he gain 8%. 4
& THHAR frul aeg i sifed e 38 A T | 35% Tl AfeRd

¥ 9 W BT W QAT RIS SR A 8% B @l

23, Madhvi purchased two h.uufbags for ¥ 750 each. She sold one bag at a gain
of 0% nd the other bag at a loss of 4%. Find her gain % or loss % on the
whole transaction. 4
qeE @ 99 TR 750 B F @Il 81 T8 TR 4A H 6% H A W
SR 9 W4 F A W AEE B R - W A e ufew

VIIMATREMATICS (5)
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30

OR ( areraT)

ol store
N s . " ' - 'lh'- ull -“l”
Saloni bought the tollowing articles fronya ni

(1) Health drink worth € 290

M) Medicines worth 2545

() Cosmetics worth €432

7% VAT is added to their prices, find the total amount paid by her.
Qe fFeafafiaa wegd v Afewe @Y G 2 -

M 2200 en @ dew fiya

() X545 @) S|

(i) A2 W WieAkures (Cosmetics) |

Al g e W 7% VAT ST S, @l TRl e R/ afar 3 i

P

1 . . 4, 1
It ===7 find the value of x*+— |
2 X

ufe 1. 7 W, !~l—l hl HIH JAld Hﬁﬁml
AN A

A0, Factorise : (UAEE fifqw) < 16p'-81g°
Lo Incthe piven figure, 2l m || nand p || ¢. 1f 21 = 135", Find the value of £2, /3,
Sband A5,
fo 31F§ﬁf v || m || n 3 g, Ife /1 = 135° %, il 22, 73,
4 S 5 AF 9 i)
/1’ q
* 7 / — |
Z1 :
Z2 \u 5
* = m
\'3 \ 4
‘ .
-+ 1
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3> The s of shirte 0oy . '
I ¢ number of shirts sold by a retailer ina particular week are given below : 4
b .
Days Monday | Tuesday | Wednesday | Thursday | Friday | Saturday
No. of Shirts 25 30 40 25 10 5()

(8]

(6%

Draw a graph to represent this information.
T GU =R 5N U fafyre gwe § wlid e @ gen i@
T ¥ -

iy SIFAR | HerEr ghar | e

FHST ® & 25 30 40 25 10 50

fz T g F TF @ W @l

ERELN

Alternate question for visually challenged students in lieu of Q. No. 32
wE, 2% WA W ghe afua faenfial & fau Swfoas ae
In a summer camp, there is food provision for 100 students for 20 days. If 25

more students join the camp, for how many days will the food provision last?

@Mﬁcﬁ?@ﬁﬂﬁlooﬁmﬁ%aﬂtwmﬁﬁmzoﬁqa}

fou v g1 Ak 59 fieR o 25 fammeff 3R 3 S, @ I@ S W
fipeH & deh =i
The area of a trapezium 18 168 cm® and its height is 8 cm. If one of the

paralle! sides is longer than the other by o cm, find the length of each ot

the parallel sides.

wF gued w1 AAwe (68 cm? s EE 8 om B AR WA e & T

ﬁ"xiiu,%qwgyﬁ"nf»cm?mﬁél,?ﬁuﬁzﬁmm?aﬁ]aﬁmm

Eaimef
DR (37 ET)

(7)
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Az . »h. The doors and window
A classroom is T m long, 6 m broad and 2.5 M high. .

. 1 weachine the walls at the
OCCUpY an area of 17 m. Find the cost ot white washing th ¢ rate

| of T1.50 per me, |
& @ﬁja‘ﬁm7m‘€@§6maﬁ?3ﬁﬁ3-5nléimmf@m
T R T SEeE 17 me ¥ 21,50 W S # R ¥ {E0 R TG
S W T e

e

Al ol i

4. A person pays ¥ 2200 to some children below 14 vears age to paint the inner
curved surface area of a cylindrical vessel 10m deep. If the cost of painting is
at the rate of 20 per m?, find
(@) the inner curved surfacé area of the vessel.

(b) the radius of the base.

(c)  which social law is the person violating?

s Al 10m &R AR a7 & FRF % =i §IFe W U FEH
% fom 14@@@@@%@6&7@?2200@%‘@&%?@%@
S 220 W W W F, @ ww G -

() T W HE TH TG S|

(b) YR =1 ==

(©) mmmwwmmm@

e ek A
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